
PUZZLE OF THE WEEK 

SOLUTION 

Special Numbers 
 
The number 49 is special because 
4 x 9 + (4 + 9)  
4 x 9 + 13  
36 + 13 = 49 
 
What is another special two-digit number?  How many can you find? 
 
The two-digit solutions always end in 9. 
They are 19, 29, 39, 49, 59, 69, 79, 89, and 99. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Be sure to check the next newsletter to see the solution!  If you have questions about or 

suggestions for the puzzle of the week, let Ms. Rush know! 

 
Special thanks to mathchallenges.net for the puzzle 


